Equal Dia. Perpendicular Configuration »

Unequal Dia. Perpendicular Configuration » Super CompaCt POSt Clamps

[@ Equal Dia. Perpendicular Configuration [®)Accessories (Hex Socket Head Cap Screw)
Material Surface i D_|RDA01][RDAO02 [No/Quaniity
Code Type GB |Equiv.| Treatment Accessories g mgig ggzz
RDAO1 Black Anodize [TACO1(Screws) 10 | G292, | - CO92 Max10 2pcs
—r 75| EqualDia |Clamp Screw - 12 M4x12_2pcs
RDA02 B LD30 | A6061 Clear Anodize |TAC21(Screws) —5 [M5x16 2pos
RDA11 | configuration | Wing Knob Black Anodize Wi
. ing Knob
RDA12 Type Clear Anodize
X
Clamp Screw Dr7 Wing knob Type g @
RDA01/02 3 RDAM1 Dz <. @&
d 16 | B ® > \
Counterbore d\ T ! T i T ' '
Depth h l 0 i ' : 1 i |
i — == e
NV Sl NY%HE
I I i or ] ]
‘L1 L2+0.1 L1 L2+0.1
2-r L
L
2-M P1 2-M ‘ P1

N

Counterbore di 2-d

o x

(@ Dnr tolerance and verticality are the standards before processing the open slot.

ol @

The first perspective

Part Number Counterbore Holes Wing Knob
r
Code Drr = L Li Le = P i d di h s X | Y
Clamp Screw 6 | %™ [ 10 | 29 [ 105 ]| 8 5 | 65 65 ys | 35| 65 | 4 1~1.3
ggﬁg; 8 +0.015 12 32 | 11 10 6 7.2 7.2 ) ) ) 18 | 105
Wina Knob T 10 0 16 | 39 | 135 | 12 8 871 87 ol 454 5 ‘
oatt P 12 | oo |18 | 43 | 14 15 90192 |19 : 1.2-18
RDA12 15 0 22 | 54 | 18 18 11 | 115 | 115| M5 | 55 | 9.5 6 28 | 15
Part Number @ Discount price f
@ Code | Dw | B (o Por [124] 5=
@ RDAOT[ o> 10 D : -
ROAD?2 8 12 o Price quotation
Pl RDA02—D6

@ Unequal Dia. Perpendicular Configuration

Material Surface Accessories
Gl Type GB Equiv. | Treatment (Screws)
Unequal Dia. i
_RDA21 ] Perpendicular  (Clamp Screw | LD30 A6061 Black Anodllze TACO1
RDA22 | Configuration Clear Anodize TAC21
VH7

i
Y
pER

M [@) Accessories (Hex Socket Head Cap Screw)
e | @ D[ v [ RDA21 [ RDA22 No./Quantity

8 6 M3x6/M3x8 1pcs each
N\ M1 10 M4x6/M4x10 1pcs each
M3x8/M4x10 1pcs each
2|2 Sode | Code  axg/Maxi2 Tpos each
M P p 10 M3x8/M4x12 1pcs each
‘\ L <_2>‘ r P M5x12/M5x% 16 1pcs each

//R 12 M4x12/M5x16 1pcs each

|
|
1
|
Dn7 d2
Counterbore d3 5 @
16 Depth h1

The first perspective

(D DH7/VH7 tolerance and verticality are the standards before processing the open slot.

Part Number Counterbore Holes Counterbore Holes
r r
Code D V7 B B1 L L1 L2 1 P1 P2 M d & h S M1 & o h S1
8 6 | w0012 12 10 [31.5| 11 10 5 6 7 6.5| M3 |35|65|35]|1 M3 | 35| 6.5| 3.5
OIS ® 7.0 M4 | 45| 8 4.5
10 | © 16 | 12 %13.5 12| 6 | 8 | 887 w335 65 3513
RDA21 g 1 M4 | 45|8 |45 i Tae e Tas
RDA22 | 12 01046 =14 | 14| 7 | 9 |9 |75 1.5 - -
wos| 10 | © Lo ™ [395 M3 | 356535
® 49.0 M5 | 55| 95| 5.5 [1.2~18
15 12 *80'3 22 18 mﬂ.’: 16 9 11 1159 M5 | 55| 95|55 va |25 8 25
I::aorégumg(z: Vir ﬁ‘ @ Discount price
é? P
@  RDA21 @ J n
Please order ROA22 10
as shown

RDA22—D8 —V6



	页 2

